—
bl

T
Ry
g%
I

1. ¥(8%4
¥4 A6 HFENE - WILH X3V B 2E7
BT IR ENEMERR R N
2. ¥HENRE
BRI [EE S 55T R B R

1) FHEI4

2) JEATHIR 307 HFE H

1 64 5H29H
SFn T4 3A31H

3) WErM
(13 105 DA T e T 552 M I e OV W T v o T PN L X D 9= )

MERFTICIWT, T~ Ik, B, IrE2170XBTh o,

4) EHBNRE
B THERER 0LBY,

EtrzmE SN R



i

B

5)
EW4 | A6 AEREIE - NI X9~ 0 B ERS ER HUE AR A
H H — XA
THH - TR - R 7 ¥ & 4 %A OB N AR
— A =X 1 21, 565, 911
AR A X 1 19, 121, 654
B AR — U > 20 1 1,378,900 | WEA—Y 7 (A—naTrR—Y
) 2 m
ikt - v b, 50mBL T, $hIEL T, ¢
86mm
+ER—Y T (F—aTR—1
) 3 m
SR T 0 0, 50mLL R, $ATE T 7, ¢ 86
mm
ABER—Y T (A= aTR—=Y
) 30 m
A, 50mEA T, SREL T 77, ¢ 86mm
BT A =X 1 218,600 | i ARXFLAERI G E
1 fL
B 2V 1 4,470,696 | FLANERIFHELR
79 B
KEZH FoARALEHELRI
76 B
BN R
9 6]
& E AR EHELRI
9 [=]
JE R
8 [=]
BRI EBLH
6 [=]
SRR — U o 7 HK EBI
30 ]

LK B B KA EHELA

EtrzmE SN R



i
m
2
%

=
=

B | A6 FEENE - NILHIX <0 BN ER ER HE A
H H — A
HE - TR - fE5 B 7 % & AR RR

14 [=]
T2 Jr —Tar B g

24 E]

FERHE R 2 9,259, 986 | FLPERFHBLAIYE B

79 [[]
2 BRI G HBLINE ok p

12 [=]
AKER A FEAKALFHELHIE R B

150 ]
S8 N FHBLINE R PR

9 [=]
1 WL GBI e}

9 [a]
TE SRS R

8 [a]
K FEHEAK EALHE  HER

6 [a]
LA =Y v YK EBHIE R

30 ]
/KRR B B RRKNOLFHEL I
it 20 @
T Jr—faf S L R PR

60 ]

ZE A ERIF I Web > AT A =X 3,422,048 | ZEAERI G R E

1 fL
WS — 7 VB

150 m
iR B e B gy

1 =
WERBRE

1 =

e

=)

TAZEE JUN TR




i
I
T
Tl
P=ai
I

EW4 | A6 AEREIE - NI X9~ 0 B ERS ER HUE AR A
H H — XA
THH - TR - R Hfr % & #H A OBN R
1 =
R 2y
1 =
FHEEAR Y — N — J O SR O HRiT%
E 1 [[]
HE A - Web e 42 B 2
10 r A
AT = 171,424 | AT A
1 X
RN A
1 X
PR (R B 2 198,000 | R A S VERCE
1 X
T e B X 2,000 | MEH%
1 A
e X 2, 444, 257
TERE X 1,434,660 | YEMEE
1 X
R
1 X
R
1 X
R
1 X
e 2 = 282,600 | HEfi & OBRA 1 F
1 =
FaKE (R o 7 YEER)
1 =
(i v 184,000 | JEH i
1 =
iR ALt = 409, 160 | Jic#r CEEF L - HiAE)
-3- FEtAzma S &



=
=

i
m
2
I[>DL

¥F4 | D6 EEINE - NILHIK 0 BRSERS ¥ R A
H H — R A
B E I % i 3 B A7 ¥ & & A A BN RR
1 =
e T B2 =X 1 133,837 | fii TS HRE
1 =
B R + MR = 1 21, 565, 911
ik =X 1 13, 454, 089
Et3e = 1 13, 454, 089
— AR SR 2V 1 35, 020, 000
AT S A = 1 1, 183, 008
BEEBE 2V 1 1, 183, 008
AT S A = 1 144, 408 | fRbreii4
1 =
FENT R A
1 =
Hi =0 A 2 1 1,038,600 | #1790 FHE [UFHX]
1 =
WD A [NILHX]
1 =
ILim = 1 289, 800
B2 | = 1 289, 800
FTaws =X 1 289, 800 | TAHE
1 =
ERFEM (ZOMFEMER<) =X 1 1, 472, 808
Z Ol JE A = 1 793, 107

-4 - EtrzmE SN R



PN

Q/Elljll
I

LWL | A6 EEIR - NI K 4~ 0 BRI S ER:1 HE R
H B Z Ot A
THH - TfE - FE5) BT ¥ & & A OB N R
— A = 1 1,214, 085
MERT SR A SR = 1 3, 480, 000
A ZERS M X 1 38, 500, 000
— 5 —

TAZEE JUN TR



